FR285%11H21H

3095 H 1V
2100/ TIV—RPh1NV 1Y &SYEYTEE TR ¥8 1 178
simEs | sEErl| TE% | Uhn | | REF| | R | (mew6| |38zs| |xew| |swww| | SR | | EXB| |[2Rws| |@RAR| | FEF | wanex| [B/R| | BB | |zezexr| |=mex| | =SB0
400A | BRYF | REB=E % 5:44 |- = 541 |- < [+ 5:34 |- 5:25 [ 5:18 5:16 = 5:08 5:05 = |+ 4:59 [ 4:50
500A | tRYF |BB=E @l;) 5:45 | 5:54
501H [k R1T|REF 6:24 [ 6:22 [+ 6:11 [ 5:59
618C | H2 A B 6:47 (H 6:50 (H 7:00 H = 7:04 H 711 H 714 H 7:23 H 7:30 [ 7:33 = 7:43 | 7:48 H 7:54
8198 | 8 |eRvE SRIBHS (U5 R)II77% ) ICEE| 8:24 [ 8:23 = 8:10 (| 8:07 | 8:01
8198 | R4F (& I 9:13 | 9:02 [{ = 8:57 || < [ 8:46 [ 8:36 || 8:26
2100/ TIV—RPh1NV1Y &SYEVTEE TR 8 2 178
nmEs|swmnl| TE5% | i | |REF| | R | |zeme| (nems| (x| (sl | @R | | EAB| (2RuE| |SRAR| | EF | (wemex| B/ | | BB | [seaex| |=wex| | =BO
67IA | %z |8 I 728 | < | = - H - <« Hess | en|{ < = 627 = H < [ 609
790A | tRIF |PE=E 7:36 (| 7:47 |- 7:56
891C | &M@ |memm 8:17 |- 8:03
2100/ TIV—RPh1NV1YV &SYEYTEE TR 8 3 78
nsEs|swmnl| TE% | i | |REF| | R | |zem6| (nems| (x| (ewwe| | @R | | EAB| (2RuE| |SRAR| | EF | (wamex| B/ | | BB | [seaes| |=wex| | =®O
T78A| 0 |RES 922 | 9220 |H{ — | = - H -4 < Hs842|{833|{ ~ = 816 < = | < | 756
912A | thiS [meaex 9:32 (H 9:36 (H 9:50 H = 9:54 H — 10:03 [ 10:14 - 10:23 |4 10:25 = 10:33 |+ 10:36 = [ 10:41
1013A| 1R4F (REF 11:44 |- 11:42 |4 11:835 |+ = M:821H < | 11:25 |+ 11:15 | 11:08 | 11:06 = 10:58 | 10:55 = |10:49
M2A( BiF |=1B0 11:55 H 11:57 [ 12:04H = 12:08H — 1215 12:25H12:324 12:34H = 12:42 H 12:45 = | 12:52H 13:01 |- 13:04
1313A| 14§ (REF 14:24 [ 14:22 (41415 [ = 1412+ < |+ 14:05| 13:55 | 13:48 | 13:46 = 13:37 | 13:34 = |H13:29 | 13:19 [{ 1317
1412A( H4F |meaex 14:35 [ 14:37 H 14:44H = 14:48H — [14:5515:05 [ 1512 [+ 15:14 = 15:22 |+ 15:25 = H15:30




FR285%11H21H

30955 1
2100%2 TIV—RhIN1Y &SYEYTEE TR g 4 178
simEs | sEErl| TE% | Uhn | | REF| | R | (mew6| |38zs| |xew| |swww| | SR | | EXB| |[2Rws| |@RAR| | FEF | wanex| [B/R| | BB | |zezexr| |=mex| | =SB0
601B | 42 |2RwE SRIEHS (45 RIITE)ICES| 6:48 | 6:46 = 6:34 [ 6:31 = | 6:24
601B | BR%F (& Il 7:36 [ 7:25 = 7:22 [ < o 71 [ 7:00 [+ 6:50
2100%2 TIV—RhIN1Y &SYEYTEE TR S o= 5 1788
nmEs|swmnl| TE5% | i | |REF| | R | |zeme| (nems| (x| (sl | @R | | EAB| (SRS |SRAR| | EF | (wemex| B/ | | BB | [seaes| |=mex| | =BO
602B | 5= |B B 6:22 H 6:27
603B | 1¥2 |&RxE SRIBHS (% R)II1T7%)ICES| 6:58 [ 6:56 = 6:45 [ 6:42 [ 6:36
603B | ¥ |&@ Il 7:46 [+ 7:37 = 7:33 |[H{ < [ 7:20 [ 7:09 [ 7:00
792A| tRIF |PEZE 7:59 — 8:09 8:19
807D | X B1T|aRz® 5| 8:37 || 8:25
806D | k21T |&R2E @l) 8:44 = 8:50 [ 8:58 M 9:02 - 9:19 | 9:28
2100fz TIV—RWINVT1Y & SYEYTEE TI8FR 8 6 178
simEs|sEmRl| TEk | Ui | |REF| | R | [xews| |n8ms| (mew| |ewww| | R | | EXB| |2RE| |2RAR| | EF| [wauex| |B/R| | BB | (zexex| |SwEx| | B0
716B | 2 B B 7:40 [ 7:46
717B | ¥R |&RxE SRIBHS (5 R)II1T7EIICES| 8:14 [ 812 = 8:00 [ 7:57 [ 7:51
778 | BR%F (& 9:04 [ 8:52 = 8:48 [{ <« |- 8:37 [ 8:24 | 8:16
2100f2 TIV—RPh1NV1Y &SYEYTEE TR o= 7 1788
simss|smmn| FEk | PR | | sES| | @) | |zews| |nezs| (zeis| |eoww| | #E | | EXE| |aRew| |sRAR| |FEF| |wanex| (B0 | | BB | [zeaex| |zewz| | =8O
1101A| 1§ |REF 12:24 | 12:22 | 12:15 = 1212} < | 12:05} 11:55 |- 11:48 | 11:46 = 11:37 |{ 11:34 = |+ 11:29
1200A( t4F | =150 12:35 | 12:37 [ 12:44H = 12:48H — | 12:55 13:05 H 13:12 H 13:14 = 13:22 |+ 13:25 = |H13:32| 13:41 |- 13:44
1301A[ B4% (RESF 15:04 |- 15:02 | 14:55 = 14:52 | — | 14:45|— 14:35 | 14:28 | 14:26 = 14:17 |+ 1414 = |+ 14:09 |- 13:59 |- 13:57
1500A( H4F |=eaex 15115 H 15117 (H{15:224 - = 156:28 4 — |1 15:35|15:45|- 15:52 | 15:54 |- = 16:02 |- 16:05 = H16:10




FR285%11H21H

30955 1

2100%2 TIV—RhIN1Y &SYEYTEE TR g 8 178

simEs | sEErl| TE% | Uhn | | REF| | R | (mew6| |38zs| |xew| |swww| | SR | | EXB| |[2Rws| |@RAR| | FEF | wanex| [B/R| | BB | |zezexr| |=mex| | =SB0
1103A| RF | REF 12:44 [ 12:42 |- 12:35 = 12:32 — 12:25 ] 12:15 [~{ 12:08 [ 12:06 = 11:57 [+ 11:54 = 11:49

1202A| tRYF (=150 12:55 | 12:57 [~ 13:04 = 13:08 = 13:15 [ 13:25 — 13:32 [ 13:34 = 13:42 — 13:45 = 13:52 [ 14:01 (| 14:04
1403A( RIF | REF 15:24 |- 15:22 | 15:15 = 15:12 — 15:05 || 14:55 |—{ 14:48 [ 14:46 = 14:37 [ 14:34 = 14:29 [+ 14:19 |+ 14:17
1602A| 1RIF |=ra=x 15:35 | 15:37 | 15:44 = 15:48 = 15:55 | 16:05 | 16:12 [ 16:14 = 16:22 -] 16:25 = 16:30

2100%2 TIV—RhIN1Y &SYEYTEE TR S o= 9 1788

nmEs|swmnl| TE5% | i | |REF| | R | |zeme| (nems| (x| (sl | @R | | EAB| (SRS |SRAR| | EF | (wemex| B/ | | BB | [seaex| |=wex| | =BO
905A | ¥ |RETF 10:25 |+ 10:23 [ 10:15 = 10:12 - 10:05 [~ 9:55 [ 9:48 [ 9:46 = 9:37 [ 9:34 = 9:28

1004A( R4F | =180 10:37 I~ 10:39 [~ 10:47 = 10:51 - 10:59 | 11:09 | 11:17 [~ 11:19 = 11:26 | 11:30 = 11:39 [ 11:50 — 11:53
1105A| RiF | REF 13:04 [ 13:02 [ 12:55 = 12:52 = 12:45 ] 12:35 [—{ 12:28 [ 12:26 = 12:17 [ 12:14 = 12:09 [~ 11:59 [ 11:57
1304A( B4F | =1B0 13:15 M 13:17 M 13:24 = 13:28 4 — |H13:35[113:45|-13:52 |4 13:54 |1 = 14:02 + 14:05 = 14:12 H 14:21 H 14:24
1405A| RiF | REF 15:44 | 15:42 |- 15:35 = 15:32 = 15:25 || 15:15 [<{ 15:08 [ 15:06 = 14:57 |- 14:54 = 14:49 | 14:39 [—{ 14:37
1504A| 1REF |mrasx 15:56 | 15:59 [~ 16:06 = 16:10 - 16:17 [ 16:27 — 16:35 | 16:37 = 16:45 | 16:48 = 16:53

2100fz2 TI—RWINVT1Y &SYEYTEE TI8FR ¥8 10 1788

simss|smmn| FEk | PER | | sES| | @) | |zews| |nems| (zeis| |eoww| | WE | | EXE| |aRew| |sRAR| |FEF| |wanex| [B/0| | BB | [zeaex| |zewz| | =BO
907A| RIF |REF 10:44 [+ 10:42 [+ 10:35 = 10:32 - 10:25 [+{ 10:15 [{ 10:08 [ 10:06 = 9:57 [ 9:54 = 9:49

1006A|( RiF | =180 10:55 | 10:57 (| 11:04 = 11:08 = 11:15 | 11:25 [ 11:32 [ 11:34 = 11:42 [ 11:45 = 11:52 [ 12:01 || 12:04
1207A| B4 (RES 13:24 |- 13:22 | 13:15 = 13112} < | 13:05 [ 12:55 || 12:48 | 12:46 = 12:37 | 12:34 = 12:29 [ 12:19 | 12:17
1306A|( RiF =180 13:35 ] 13:37 [ 13:44 = 13:48 = 13:55 - 14:05 [ 14:12 4 14:14 = 14:22 - 14:25 = 14:32 - 14:41 [ 14:44
1407A( B45 (8 Il 16:03 | 15:55 = 15:52 | «— | 15:45 15:35 [ 15:28 [ 15:26 = 15117 |{ 1514 = 15:09 | 14:59 | 14:57
1606A| 1RYF |=razx 16:09 | 16:17 = 16:23 = 16:30 || 16:39 | 16:47 [ 16:49 = 16:56 | 16:59 = 17:05




FR285%11H21H

30955 1

2100%2 TIV—RhIN1Y &SYEYTEE TR ¥H N 178

simEs | sEErl| TE% | Uhn | | REF| | R | (mew6| |38zs| |xew| |swww| | SR | | EXB| |[2Rws| |@RAR| | FEF | wanex| [B/R| | BB | |zezexr| |=mex| | =SB0
1009A( B4 (RES 11:04 |+ 11:02 | 10:55 = 10:52 | «— [~ 10:45}{ 10:35 [ 10:28 |-{ 10:26 = 10:17 |+ 10:14 = 10:09

1108A| HR4F (=180 1115 A 11:17 H 11:24 = 11:28 = 11:35 [~ 11:45 [~ 11:52 [~ 11:54 = 12:02 [—| 12:05 = 12:12 A 12:21 | 12:24
1209A( B4 (RESF 13:44 [ 13:42 [ 13:35 = 13:32}{ < [—13:25}{13:15 [ 13:08 |-{ 13:06 = 12:57 |{12:54| = 12:49 [ 12:39 | 12:37
1308A| #R4F | =150 13:55 - 13:57 [ 14:04H = 14:08H — |H14:15|-14:25|-14:32| 4 14:34H = 14:42|414:45H = 14:52 H 15:01 [H 15:04
1509A| 45 (& Il 16:23 | 16:15 = 1612 < |{16:05 15:55 | 15:48 | 15:46 [ = 15:37 | 15:34 | = 15:29 | 15:18 | 15:16
1608A( R4 |=eaex 16:32 - 16:40 = 16:43H — [ 16:51 - 17:00 (H 17:08 (- 17:10 = 17:18 H 17:21 = 17:27

2100%2 TIV—RhIN1Y &SYEYTEE TR B 12 1788

nmEs|swmnl| TE5% | i | |REF| | R | |zeme| (nems| (x| (sl | @R | | EAB| (2RuE| |SRAR| | EF | (wemex| B/ | | BB | [seaex| |=wex| | =BO
101A| B4 |REF 11:24 |- 11:22 |4 11:15 = N2 < [11:05 [ 10:55 [ 10:48 [{ 10:46 [{ = 10:37 |{10:34|H = 10:29

1110A| R4 | =150 11:35 H 11:37 H 11:44 = 1M:48 | — [ 11:55 4 12:05 | 12:12 4 12:14 = 12:22 H 12:25 = 12:32 H 12:41 [H 12:44
1211A| B4 |REF 14:04 [ 14:02 [ 13:55 = 13:52 | «— | 13:45 13:35 | 13:28 | 13:26 = 13:17 | 13:14 = 13:09 [ 12:59 |- 12:57
1410A| 1REF |meaes 1415 1417 H 1424 = 14:28H — |H14:35|-14:45|-14:52 |+ 14:54H = 15:02 - 15:05 = 15:10

2100fz2 TI—RWINVT1Y &SYEYTEE TI8FR ¥ 18 17E8

simss|smmn| FEk | PER | | sES| | @) | |zews| |nems| (zeis| |eoww| | WE | | EXE| |aRew| |sRAR| |FEF| |wanex| [B/0| | BB | [zeaex| |zewz| | =BO
MBA| B |REF 12:04 |- 12:02 | 11:55 = M52} < | 11:45 - 11:35 |- 11:28 | 11:26 = 17 [ N4 = 11:09

1214A| R4 | =150 1215 H 127 H 12244 = 12284 — (12:35({12:45H 12:52 1 12:54H = 13:02 - 13:05 = 1312 H 13:21 H 13:24
1315A| B4 (RES 14:44 [ 14:42 [ 14:35 = 14:32|— — | 14:25 14:15 [ 14:08 [ 14:06 = 13:57 |{13:54| = 13:49 |+ 13:39 | 13:37
1414A| 1Y |meaes 14:55 - 14:57 - 15:04H = 15:08H — (15115 15:25( 15:32({15:34H = 15:42 (H 15:45 = 15:50

2100%2 TIV—RhIN1Y &SYEYTEE TR ¥8 14 7

sisEs|Emnl| TE% | Ui | |RES| | &) | [mews| |v8ms| (meus| |swww| | ER | | EXE| |2RE| (2R\R| | FEF | [wamex| |B/0| | BB | (zexex| |SmEs| | ZB0
1618A( HiF |=eaes 16:52 |- 17:02 = 17:06 H — 1715 H{17:24H17:32+{17:34 o = 17:42 H 17:45 = 17:51




FR285%11H21H

30955 1

2100%2 TIV—RhIN1Y &SYEYTEE TR ¥8 15 1788

simEs | sEErl| TE% | Uhn | | REF| | R | (mew6| |38zs| |xew| |swww| | SR | | EXB| |[2Rws| |@RAR| | FEF | wanex| [B/R| | BB | |zezexr| |=mex| | =SB0
1870A [(U!gj RRASR 18:45 = = = - = 19:20 [ 19:29 [ 19:31 = 19:39 [ 19:42 = 19:48

2100%2 TIV—RhIN1Y &SYEYTEE TR ¥8 16 1788

nsEs|swmnl| TE% | i | | REF| | R | |xem6| (p8ms| (x| (ewwa| | @R | | LAB| (sRuE| |SRAR| | EF | (wemex| | B/ | | #E | [zezex| |=mEx| | =8O
2170A ’@g’ﬂ =1B0 21:47H — = - - — 22117 22:24 4 22:26 = H22:34422:37 = |+ 22:48 | 22:57 |- 23:00
21002 TIV—XNhTN1Y &SYEVYTEE TIBR ¥a 17 178

nEEs|swmnl| TE% | i | | REF| | RN | |xem6| (pems| (x| (ewwa| | @R | | LAB| (sRuE| |SRAR| | EF | (wemex| | B/ | | EE | [=ezex| |=mEx| | =8O
1972A ’0)2;"3 FRAER 19:05H - = - - — H19:40 - 19:49 H 19:51 = 19:59 |- 20:02 = |+20:08

2100fz2 TI—RWINVT1Y & SYEYTEE TI8FR ¥8 18 178

simEs|siEmRl| TEk | Ui | |REF| | R | [xews| |n8ms| (mew| |ewww| | R | | EXB| |2RE| |2RAR| |EF| [wauex| |B/R| | BB | (zexex| |SwEx| | B0
2272A ‘/01},016%2'3 =50 22:17 = = - - = 22:44 - 22:52 |- 22:54 = 23:04 —| 23:08 = 23:16 [ 23:25 | 23:28
2100fz2 TI—RWINVT1Y &SYEYTEE TI8FR ¥8 19 178

ssEs | simEsl| TE% | Uhn | | REF| | RN | (xews| |nezs| (xeiw| (eswn| | @R | | LAB| |2RE| (2RAR| |EF | (wmmes| |B/R| | #E | |wexex| |=eex| | =SB0
1974A "b);é"ﬁ FRAZR 19:25H — = - - — |+ 20:00 |- 20:09 [H 20:11 = 20:19 [+ 20:22 = |+20:28

2100f2 TIV—RPh1NV1Y &SYEYTEE TR ¥8 20 178

simEs | simEsl| TE% | Ui | | REF| | @) | (zews| |nezs| (xeiw| (eswe| | @R | | LAB| |2@RE| (@RAR| |EF | (wmmes| |B/R| | #E | |wexex| |=eex| | =BO
1976A ‘Wgﬁ =150 19:45H — = - - — H 2017 20:25H20:27H = | 20:37 [ 20:40 = 20:51 [+ 21:00 [+ 21:03
2177A| RiF |=raex 21:26 [ 21:17 |- 21:14
2376A ’b{]'(_?ﬁ RRAZR 23:00H - = - - — |H23:2823:36[23:38H = [23:4623:50 = |H23:55




FR285%11H21H

30955 1

2100%2 TIV—RhIN1Y &SYEYTEE TR ¥8 21 1788

simEs | sEErl| TE% | Uhn | | REF| | R | (mew6| |38zs| |xew| |swww| | SR | | EXB| |[2Rws| |@RAR| | FEF | wanex| [B/R| | BB | |zezexr| |=mex| | =SB0
2078A ‘@g"ﬁ =10 20:05(H - = - - — H20:3720:44H20:46H = [H20:54H20:57H = H21:09H 21:18 H 21:21
2179A| HR4F |meaes 21:37 [ 21:29 || 21:26
2100%2 TIV—RhIN1Y &SYEYTEE TR 8 22 {78

nmEs|swmnl| TE5% | i | |REF| | R | |zeme| (nems| (x| (sl | @R | | EAB| (SRS |SRAR| | EF | (wemex| B/ | | BB | [seaes| |=mex| | =BO
2080A| 1427\ =0 20225 — = - - - He20:6H21:04H21:06 H = H21m3H 217 = [ 21:27 H 21:36 [ 21:39
2100%2 TIV—RhIN1Y &SYEYTEE TR ‘¥ 23 17H8

nmEs|swmnl| TE5% | i | |REF| | R | |zeme| (nems| (x| (sl | @R | | EAB| (2RuE| |SRAR| | EF | (wemex| B/ | | BB | [seaex| |=wex| | =BO
2082A ’0{;"5 =80 20145 — = - - - H21meH 2123 21:25 4 = [ 21:3321:36 = [ 21:48 H 21:57 [+ 22:00
2283A( RYF |mRamx 22:17 |- 22:08 |- 22:06
2100fz TIV—RWINVT1Y & SYEYTEE TI8FR ¥8 24 1788

simEs|sEmRl| TEk | Ui | |REF| | R | [xews| |n8ms| (mew| |ewww| | R | | EXB| |2RE| |2RAR| | EF| [wauex| |B/R| | BB | (zexex| |SwEx| | B0
2184A ‘Wgﬁ =180 27 H - = - - - H 2146 21:53H 21:55 o = [H22:0322:06(H = | 22118 22:27H22:29
2100%2 TIV—RhIN1Y &SYEYTEE TR ¥8 25 178

simss|swEmn| FEk | PR | | sES| | @) | |zews| |nezs| (zens| |eoww| | #E | | EXE| |eRew| |sRAR| |FEF| |wanex| (B0 | | BB | [zeaex| |zewz| | =8O
722C| R |=1B0O 7:28 [H 7:30 = 7:40 [ 7:47 = o 7:53 H 8:03 [H 8:05
823C | #2 [1B/W 8:29 = | 8:24 | 814 [ 8Mm




